PH 2023 Quizg " Fall 2014

Name é:‘)lu./)“\'b‘r\‘i. Section C__

A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
endsis 0.45 V.

a) What is the resistance of the wire? (2 point) e—errm=""
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b) What is the resistivity of the conductor the wire is made of? (4 points)
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¢} What is the power dissipated in this wire? (4 points) ~ —— -
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A 10-m-long wire of a 2.0 mm diameter carries a currept’'when the voltage between its

endsis 0.45 V.
a) What is the resistance of the wire? (2 point)
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b) What is the resistivity of the conductor the wire is made of? (4 poins)
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c} What is the power dissipated in this wire? (4 points)
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A cyrrent he voltage between its

ends is 0.45 V,

a} What is the resistance of the wire? (2 point)

E:Uf‘
ey
e B
N 2R v 1R .
"-”\“Hfj 22030 flz:o,zﬂw e

b) What is the resistivity of the conductor the wire is made of? (4 points)
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c) What is the power dissipated in this wire? (4 points)
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 fit when the voltage between its

ends is 0.45 V.

a) What is the resistance of the wire? (2 poini)

b) What is the 1 resistivity of the conductor the wire is made of? (4 points)
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Section C_

A 10-m-long wire of a 2.0 mm diameter carries a 1. t when the voltage between its

ends is 0.45 V.

a) What is the resistance of the wire? (2 point)
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b) What is the resistivity of the conductor the wire is made of? (4 points)
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c) What is the power dissipated in this wire? (4 points)
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A10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
endsis 0.45 V.
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a)What is the resistance of the wire? (2 point) 0.009|
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b)What is tﬁé%sisiivity of the conductor the wire is made of? (4 points)
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A 10-m-long wire of a gé)pmm diameter carries a 1 5 A current'when the voltage between its

endsis 0.45 V. _
72 oo\ V- \ubf\ {000\ wq, ]0‘-’1’\
a} What is the resistance of the wire? (2 point) \/P
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b) What is the resistivity of the conduclor the wire is made of? (4 points)
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7

A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its

endsis 0.45 V., ;
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a) What is the resistance of the wire? (2 point) N4
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b) What is the resistivity of the conductor the wire is made of? (4 points)
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A of a.0 mp} diameter carries a 1.5 A curfent-when the@lga:g etween its
enmls 0.45 V‘ e, o ’ B .
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~ Pg b) What is the resistivity of the conductor the wire is made of? (4 points)
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c¢) What is the power dissipated in this wire? (4 points)
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
endsis 0.45 V.,

a) What is the resistance of the wire? (2 point)
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b) What is the resistivily of the conductor the wire is made of? (4 points)
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¢) What is the power dissipated in this wire? (4 points)

Ea

RUIERTYEPRTE




PH 2023 Quiz 8 Fall 2014

Name /]/ {/i Cﬁ(/@/ !/C’f)?' INg g Section C_

A 10-m-long wire of a,2.0 mm diﬁ;r carries a 1.5 A current when the voltage between its

.

endsis 0.45V. ~ 0.00 L

a) What is the resistance of the wire? (2 poini)
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5) What is the resistivity of the conductor the wire is made of? (4 points)
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¢) What is the power dissipated in this wire? (4 points)
.

| QZ\\)-:. L/\b)C(;) 2 ‘3) - OGS Wi




PH?2023 Quiz 8

Name _Moa zid  Ahmed

Fall 2014

Section C_

A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
ends is 0.45 V.

a) What is the resistance of the wire? (2 point)
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b) What is the resistivity of the conductor the wire is made of? (4 points)
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c) What is the power dissipated in this wire? (4 points)
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
endsis 045V, doygn 8- 097 T-LYA Veus

a) What is the resistance of the wire? (2 poinf)
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b) What is the resistivity of the conductor the wire is made of? (4 points)
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¢) What is the power dissipated in this wire? (4 points)
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its
endsis 0.45 V,

a) What is the resistance of the wire? (2 point)

c) What is the power dissipated in this wire? (4 points}

<, § f =
’ L
Powen erssips’”



PH 2023 Quiz 8

Name .’x) <’:‘1-»L-'\.-(.\ Tslam /

Fall 2014

Section C_

‘A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A currént when the voltage between its

ends is 0.45 V.

a) What is the resistance of the wire? (2 poini)
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c) What is the power dissipated in this wire? (4 points)
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]UCQ{A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A\ curren] whervthe voltage betweents
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c) What is the power dissipated in this wire? (4 points) D O %b
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A 10-m-long wire of a 2.0 mm diameter carries a 1.5 A current when the voltage between its

endsis 0.45 V. |
a) What is the resistance of the wire? (2 poin() Q - (_)Mii f/roﬂ/;; r w:/
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b What is the resistivity of the conductor the wire is made of? (4 points)
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¢) What is the power dissipated in this wire? (4 poinis)
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(4 points) For the circuit above, find the equivalent capacitance.
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(2 points) What is the charge stored on the 6 uF capacitor? -
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(4 points) What is the charge stored on the 7 uF capacitor? the 8 g capacitok?
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(4 points) For the circuit above, find the equivalent capacitance.
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What is the charge stored on the 6 uF capacitor? -
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(2 points)
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(4 points) What is the charge slored on the 7 uF capacitor? the 8 uF capacitor?
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(4 points) For the circuit above, find the equivalent capacitance.
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(2 points) What is the charge stored on the 6 uF capacitor? -
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(4 points) What is the charge stored on the 7 uF capacitor? the 8 puF capacitor?
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1. (6 points) A ~3nC point charge is placed at the center of a conducling spherical shell of inner radius

of 12 cm and outer radius 18, 16.cm. The shell itself carries a +7 nC charge.
Find the electric field at the foilow;ng distances from the center (sketch the locations of the charges and the

electric fields at the points of inferest):
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Section C___

/ l(’b) r=16 cm’
— & V =5
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2. (4 points) A charge +10 pC is located at the origin and a +20 pC is located at x = 15 cm. Find the total
electric flux through sides of a cube with sides of 10 cm which is cente%i the*origin (x = 0).
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1. An electric dipole is made of two charges of equal m nitides of 0.2 uC and opposite
signs. The positive charge is located at the point (x, ¥) = (0, 0.01 m) while the negative
charge is located at the point (x, y) = (0, -0.01 m).

I

a) What is the dipole moment of this dipole (the magnitude an@w (3 points)
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b) What is the torque on this dipole in an electric field E = (2.53 )-106 N/C? (3 points)
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2. A proton was injected into uniform electric field of 50,000 N/C. Assuming the proton starts
from rest, what is its speed after it travels 10 cm in this field? (Take the mass of a proton as
1.66x107% kg) (4 points)
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Section C__

1. (6 points) A =3 nC point charge is placed at the center of a conducting spherical shell of inner radius

of 12 cm and outer radius 18 cm. The shell itself carries a +7 nC charge.
Find the electric field at the following distances from the center (skeich the locations of the charges and the

eleclric fields at the points of interesty.
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2. (4 pointé) A charge +10 [iC is located at the origin and a +20 pC is located at x = 16 cm. Find the total
electric flux through sides %)f-'é cube with sides of 10 cm which is centered at the origin (x = 0).
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{4 points) For the circuit above, find the equivalent capacitance.
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(2 points) What is the charge stored on the 6 uF capacitor? .
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(4 points) For the circuit above, find the equivalent capacitance. - p
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(2 points) What is the charge stored on the 6 pF capacitor? -
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(4 points) What is the charge stored on the 7 uF capacitor? the 8 uF capacilor?
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1)A5puCisatx=0and a-2.5 uC chargeis at x = 12.0 cm. Let V = 0 at r = o, At what
point along the line joining them is the electric potential zero? (HINT: The point is

somewhere hetween the charges.) (5 pts.)

2) In a region of space where the electric field has the uniform value of (24i) N/C, what
is the difference in electric potential in going from the point (2 cm, 1 cm, 0 cm) to the

point (-3 cm, 4 cm, 0 cm)? (6 pts.}



